No 6—1

+ % it % &
(E¥xT)
o = W m B’ YoM EE BE B FR¥E | CoERiE L | CoERiE L
C1 C1 C C1 C1 C 5930 37
BP P 0.0 4.2 0.00 — — — — — = = =
P 10.0 4.2 0.04 — 4.20 0.02 — 10.0 42.0 0.2 =
P 20.0 4.4 0.04 — 4.30 0.04 — 10.0 43.0 0.4 =
BC.1 | P 24.9 5.0 0.04 — 4.70 0.04 — 4.9 23.0 0.2 =
P 32.5 3.2 0.04 — 4.10 0.04 — 1.6 31.2 0.3 =
SP.1 | P 33.7 3.0 0.04 0.00 3.10 0.04 — 1.2 3.7 0.0 =
P 38.5 5.6 0.04 1.41 4.30 0.04 0.71 4.8 20.6 0.2 3.4
EC.1 | P 42.6 4.6 0.04 1.10 5.10 0.04 1. 26 4.1 20.9 0.2 5.2
P 52.0 4.6 0.04 1.10 4. 60 0.04 1.10 9.4 43.2 0.4 10.3
P 52.5 3.0 0.04 0.00 8.80 0.04 0.55 0.5 4.4 0.0 0.3
BC.2 | P 53.3 6.0 0.04 — 9.50 0.04 — 0.8 1.6 0.0 =
P 65.5 5.6 0.04 — 5.80 0.04 — 12.2 70.8 0.5 =
SP.2 | P 68.4 4.0 0.04 — 4. 80 0.04 — 2.9 13.9 0.1 =
EC.2 | P 83.6 2.2 0.00 — 3.10 0.02 — 15.2 47. 1 0.3 =
BC.3 | P 84.2 2.2 0.00 — 2.20 0.00 — 0.6 1.3 0.0 =
SP.3 | P 90. 6 4.6 0.00 0.00 3.40 0.00 — 6.4 21.8 0.0 =
EC.3 | P 97.0 1.4 0.00 0.58 6.00 0.00 0.29 6.4 38.4 0.0 1.9
P 98.0 1.4 0.00 0.58 7. 40 0.00 0.58 1.0 1.4 0.0 0.6
P 110.0 1.6 0.00 0.88 4.50 0.00 0.73 12.0 54.0 0.0 8.8
P 113.5 1.8 0.00 0.00 1.70 0.00 0.44 3.5 6.0 0.0 1.5
P 118.0 1.8 0.00 0.00 1. 80 0.00 0.00 4.5 8.1 0.0 0.0
g 508. 4 2.8 32.0




No 6—2

+ % it % &
(E£EXT)
I = W m ' YoM EE BE Bt | BRMAREL | BRAREEL | HER
B B1 B2 B B1 B2 2.5mKE | 2. 5mKE | ImKE

BP P 0.0 0.0 0.0 0.0 — — — — = = =
P 10.0 0.0 0.0 0.0 0.00 0.00 0.00 10.0 0.0 0.0 0.0
P 20.0 0.0 0.0 0.0 0.00 0.00 0.00 10.0 0.0 0.0 0.0
BC.1 | P 24.9 0.0 0.0 0.0 0.00 0.00 0.00 4.9 0.0 0.0 0.0
P 32.5 0.0 0.0 0.0 0.00 0.00 0.00 1.6 0.0 0.0 0.0
SP.1 | P 33.7 0.0 0.0 0.0 0.00 0.00 0.00 1.2 0.0 0.0 0.0
P 38.5 0.0 0.0 0.2 0.00 0.00 0.10 4.8 0.0 0.0 0.5
EC.1 | P 42.6 0.0 0.0 0.2 0.00 0.00 0.20 4.1 0.0 0.0 0.8
P 52.5 0.0 0.0 0.2 0.00 0.00 0.20 9.9 0.0 0.0 2.0
BC.2 | P 53.3 0.0 0.0 0.2 0.00 0.00 0.20 0.8 0.0 0.0 0.2
P 65.5 0.0 0.0 0.1 0.00 0.00 0.15 12.2 0.0 0.0 1.8
SP.2 | P 68.4 0.0 0.0 0.2 0.00 0.00 0.15 2.9 0.0 0.0 0.4
EC.2 | P 83.6 2.6 0.1 0.1 1. 30 0.05 0.15 15.2 19.8 0.8 2.3
BC.3 | P 84.2 2.6 0.1 0.1 2. 60 0.10 0.10 0.6 1.6 0.1 0.1
SP.3 | P 90. 6 3.8 0.1 0.1 3.20 0.10 0.10 6.4 20.5 0.6 0.6
EC.3 | P 97.0 1.2 0.1 1.6 2.50 0.10 0.85 6.4 16.0 0.6 5.4
P 110.0 4.0 0.4 0.0 2. 60 0.25 0.80 13.0 33.8 3.3 10. 4
P 113.5 0.0 0.0 0.0 2.00 0.20 0.00 3.5 1.0 0.7 0.0
P 118.0 0.0 0.0 0.0 0.00 0.00 0.00 4.5 0.0 0.0 0.0
g 98.7 6. 1 24.5




No 6—3
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1 = B m & iy oM @E R BBt | EEEE | FEEE

W2 W W2 W W2

BP P 0.0 0.0 11.4 - - - = =
P 10.0 0.6 10.2 0.30{ 10.80 10.0 3.0 108.0
P 20.0 0.6 10.0 0.60{ 10.10 10.0 6.0 101.0
BC.1 | P 24.9 0.6 9.6 0.60 9.80 4.9 2.9 48.0
P 32.5 0.6 9.3 0.60 9.45 1.6 4.6 71.8
SP.1 P 33.7 0.6 9.4 0.60 9.35 1.2 0.7 11.2
P 38.5 1.2 5.8 0.90 1. 60 4.8 4.3 36.5
EC.1|P 42. 6 1.2 6.0 1.20 5.90 4.1 4.9 24.2
P 52.5 0.6 6.6 0.90 6.30 9.9 8.9 62.4
BC.2 | P 53.3 0.6 6.6 0.60 6. 60 0.8 0.5 5.3
P 65.5 0.6 11.4 0.60 9.00 12.2 1.3 109.8
SP.2 | P 68.4 0.6 11.2 0.60{ 11.30 2.9 1.7 32.8
EC.2 | P 83.6 0.4 1.2 0.50 9.20 15.2 1.6 139.8
BC.3 | P 84.2 0.4 1.3 0.40 1.25 0.6 0.2 4.4
SP.3 | P 90.6 0.4 6.8 0.40 1.05 6.4 2.6 45. 1
EC.3 | P 97.0 0.6 6.7 0.50 6.75 6.4 3.2 43.2
P 110.0 0.0 4.3 0.30 5.50 13.0 3.9 1.5
P 113.5 0.0 4.8 0.00 4.55 3.5 0.0 15.9
P 118.0 0.0 4.9 0.00 4.85 4.5 0.0 21.8
E 62. 3 962.7




No 6—4

1 &t ) ™
f ® i * T iy 0 E R M | BYY
L2 L2 L2
BP P 0.0 — — — =
P 10.0 — — 10.0 =
P 20.0 — — 10.0 =
BC.1 | P 24.9 — — 4.9 =
P 32.5 — — 1.6 =
SP.1 P 33.7 — — 1.2 =
P 38.5 — — 4.8 =
EC.1T | P 42.6 — — 4.1 =
P 52.5 — — 9.9 =
BC.2 | P 53.3 — — 0.8 =
P 65.5 — — 12.2 =
SP.2 | P 68.4 0.0 — 2.9 =
EC.2 | P 83.6 1.2 0.60 15.2 9.1
BC.3 | P 84.2 1.2 1.20 0.6 0.7
SP.3 | P 90. 6 1.2 1.20 6.4 1.7
EC.3 | P 97.0 0.0 0.60 6.4 3.8
P 110.0 — — 13.0 =
P 113.5 — — 3.5 —
P 118.0 — — 4.5 —

gl

21.3




No 6—5

+ 7 it i z
= B m M E B B B | THEEUR | SREUR
W3 W3 W3 W3 E&4dcm | Z&3cm
P 0.0 11.4 0.0 — — — = =
P 10.0 6.2 1.4 8.80 0.70 10.0 88.0 1.0
P 20.0 6.2 1.4 6. 20 1. 40 10.0 62.0 14.0
P 24.9 6.2 1.5 6. 20 1.45 4.9 30.4 1.1
P 32.5 1.2 1.6 6.70 1.55 1.6 50.9 11.8
P 33.7 8.0 1.3 7. 60 1.45 1.2 9.1 1.7
P 38.5 8.4 0.0 8.20 0. 65 4.8 39.4 3.1
P 42.6 8.0 — 8.20 — 4.1 33. 6 =
P 52.5 11.0 — 9.50 — 9.9 94.1 =
P 53.3 11.6 — 11.30 — 0.8 9.0 =
P 65.5 6.4 — 9.00 — 12.2 109. 80 =
.2 | P 68. 4 11.2 — 8.80 — 2.9 25.5 =
.2 | P 83.6 4.7 — 7.95 — 15.2 120. 8 =
.3 | P 84.2 4.8 — 4.75 — 0.6 2.9 =
.3 | P 90.6 5.0 — 4.90 — 6.4 31.4 =
.3 P 97.0 5.0 — 5.00 — 6.4 32.0 =
P 110.0 4.1 — 4.55 — 13.0 59.2 =
P 113.5 5.8 — 4.95 — 3.5 17.3 —
P 118.0 5.9 — 5.85 — 4.5 26.3 —
& 841.7 44.7




No 6—6

M i &t " =
1 = ER T E E 96 B EREER

REtiEm|vLiER EtEm| vtiEm (ER) |BtLZzm|vtizZzm

P 3.2 — 0.3 — — — = =
P 10.0 — 0.6 — 0.45 6.7 = 3.0
P 20.0 — 0.6 — 0. 60 10.0 = 6.0
BC.1 | P 24.9 — 0.7 — 0. 65 4.9 = 3.2
P 27.5 0.0 0.0 — 0.35 2.6 = 0.9

P 32.5 0.6 — 0. 30 — 2.0 0.6 =

P 34.8 — 4.0 — — 0.0 = =
P 38.5 — 3.5 — 3.75 4.9 = 18.4
EC.1 | P 42.6 — 2.6 — 3.05 5.4 = 16.5
P 52.5 — 1.1 — 1.85 9.9 = 18.3
BC.2 | P 53.3 — 1.1 — 1.10 0.7 = 0.8
P 61.3 — 0.6 — 0.85 6.6 = 5.6

P 72.2 0.0 — — — 0.0 = =

EC.2 | P 83.6 3.0 — 1.50 — 9.2 13.8 =

BC.3 | P 84.2 3.0 — 3.00 — 0.6 1.8 =

SP.3 | P 90. 6 4.0 — 3.50 — 5.7 20.0 =

P 92.0 4.2 — 4.10 — 1.5 6.2 =

P 95.4 0.0 — 2.10 — 1.5 3.2 =

EC.3 | P 97.0 0.9 — 0.45 — 0.0 0.0 —

P 106. 6 3.1 — 2.00 — 9.6 19.2 —

P 106. 6 0.2 — 1.65 — 0.0 0.0 =

P 108. 2 0.6 — 0.40 — 1.6 0.6 —

P 110.0 1.0 — 0.80 — 1.8 1.4 —

P 11.7 1.3 — 1.15 — 1.7 2.0 =

P 112.7 0.0 — 0. 65 — 1.0 0.7 =
gt 69.5 72,17

P72.2~P112.7 B&H 25.7
&t 95.2 12,17
P72.2~P112.7 B&JE 1=34.2
34.2 X 0.75 = 25.7 m2




(1)

P kK B & B LT Sk R ) B =
I ) B AR GRERT ) 300 <300 B 2 B AR CRE BT ) 300 <300
VI [ % omoA X [ iE £ T whoW A %o A X [ i 5
p 39.3 P 52.1 14.0 ﬁ(gégﬁgl%ﬁ P 61.3 P 68. 4 6.0 ﬁ(giﬁ%%:s%%
p 53.2 P 61.3 7.0 | (53K)
5 21.0 |m 7 6.0 |m




(1)

PEok M & B L Sk R at ) =
H 2 B AR GRE T ) 300 < 1000 BNA =R~z J— K (18-8-258B)
e W O A X [ IE R I I [ OB A X [ IE R W %
P 98. 8 P 108. 7 10.0 @(gégﬁg%ﬁ (VS-300<1000)
10. 0X0. 30X0. 14= 0.4

5 10.0 |m B 0.4 |m3




(1)

oKk & & ¥ T I i N S
PL2-B300-HI100
OB | %W OR | KMER | W B WO | %W oA KMER | W B
p 1.3 P 37.4 34.4 %gﬁgﬁ%%ﬁ

i 34.4 |m




(1)

ok & ¥ L e kR BF
PU2-24 BF I -300
R S AR X A ZE & AR LR/ X fA] ZE & i &
35.2 | P 38.2 4.0 69.5 | P 92.3 10.5 | Gy
2 4.0 : 19.5 m




(F)
HE K M & B LT i & il L e
FREEWTEITE B250 X H250  (KEJHE No. 1)

~ L FUBBHAITE (BB No. 2)
oM A M AR X [# it & & oM AR S [ X [# It & i &
p 0.5 p 3.6 12.0 %ggﬁ%i B300 X H500
P 101.7 | fHix 6.0 |HiffiRHT5%
Al 6.0 |m

BinA v "—hrar 7 ) —k (18-8-25BB)

6.0X0.30X0.10= 0.2 |m3

i 12.0 |m




()
HE S/ 5 il e
BT ¢ 300) BT (CSB%  ¢600)
o % X [ T E I = % X [E T B W
52.5 | 1 6.0 |HffigmEons 97.0 | fHir 1.8 | HfliZEHL0E%
6.0 m 1.8 |m




(1)

HE K ¥ & ® L i & 7 1 e
= T (PB-B600-H600)
FIC SN[/ X [ it R T = /SR [ =Y [/ X [ it & I %
WG FR S EH
p 38.5 9.0 |(EE)

2 9.0 'm




()
% T T R HoOE
7R — 7 L
wmoH A &R X W T & fi e W R & R X W T K (T
P 37.4 P 56. 8 18.4 | A
p 58. 2 P 68. 5 8.7 | A

27.1 |m




(1)

B

fL-

ills T

JE

&

i

Vvl

B

=

=
HAVERHIEME T A vy =272 A (H=1.0m) oM B5 E Mt L Gr—C-4E
S [ %O s X [ it E 1 b WA S [ X M E E I
P 33.0 P 0l1.3 29.0 | (Z2&) P 37.4 P 56. 8 19.0 | &4
P 81.0 P 95.5 13.0 | A4
P 99. 7 P 112. 7 13.0 | A4
2 29. 0 i 45.0 |m




()
B OB O B M B L A & i 1 T
X i) o T X ) B T
SRS | I = FIC SN[/ X [ T R T = s [/ X [ T = fi %
SMAKE | (F) W=15cm (GEHR) fZ1ERR | (H) W=4bcm (GEHR)
p 0.0 p 118.0 118.0 p £+ 4.0
118.0 X2= 236.0
B 236.0 |m 5 4.0 |m




(1)

o4 AR 9l W T IS .
WO ORR Bl W T (t=4cm)

oW R S [ X M E & fi o R WA X fH I & L
P 0.0 | fHr 11.5

P 21.2 P 33.7 10.0 | (EE)

P 84.2 P 97. 0 13.5 | (EE)

P 112.7 P 118.0 5.2 | (ER)

p 118.0 | fHir 5.9

46. 1




No 156—13

(X 8 I ) 15 Fv #T #% B T (SGW82) &t 1 =
i = | -h| B B | BRI ¥ ¥ B oae | 00 | BB |EERF | B E
WEiR | k| @R | HERE | 2Rk @R (m3) m2) m2)
106.0] 0.104 0. 61 0.49 — — — — = = = H=0. 3
106. 0 1. 200 4.09 1.00 0. 65 2.35 0.75 2.0 1.30 4.7 1.5] H=2.0
& 2.0 1.30 4.7 1.5




No 156—14

(X B T ) 5 A #T # B T (GWI15) &t " =
i = | -h| B B | BRI ¥ ¥ B oae | 00 | BB |EERF | B E
WEiR | k| @R | HERE | 2Rk @R (m3) m2) m2)
P 106. 6 1. 80 4.24 1. 50 — — — — = = = H=2.0
P 110.0 1. 80 4.24 1. 50 1. 80 4.24 1. 50 3.4 6.12 14.4 5.1 H=2.0
P 111.6 0.65 2.12 1.00 1.23 3.18 1.25 1.6 1.97 5.1 2.0 H=1.0
B 5.0 8.09 19.5 7.1




No 15—156

(BLHT) B

[
®

" EEEEEE . R EBBH | % B

wEiR | k| @E | HERE | 2Rk @R S5 3 m3) m2) m2)

P 37.4 0.08 0.4 - - - - -

P 38.5 0.08 0.4 0.08 0.40 0.8 0.06 0.3
EC.1 | P 42.6 0.13 0.5 0.1 0.45 3.0 0.33 1.4

P 43.6 0.13 0.5 0.13 0.50 1.0 0.13 0.5

F 4.8 0.52 2.2




No 3—1

WO m ® & T 2
1% & T T F oty Mm@ R 5 g HEME
W1 W1 W1
P 0.0 11.40 - - =
P 1.4 9.70 10. 55 1.4 14.8
P 1.4 9.20 9.45 0.0 0.0
P 10.0 5. 60 1.40 8.6 63. 6
P 20.0 5. 60 5.60 10.0 56.0
BC.1 | P 24.9 5. 60 5.60 4.9 2].4
P 32.5 6.80 6.20 1.6 47.1
SP.1 P 33.7 1.60 1.20 1.2 8.6
P 35.0 5.88 6.74 1.2 8.1
P 37.4 5.50 5.69 2.5 14.2
P 37.4 6.14 5.82 0.0 0.0
P 38.5 6.14 6.14 1.1 6.8
EC.1 | P 42.6 6.39 6. 27 4.1 258
P 52.5 1.01 6.70 9.9 66.3
BC.2 | P 53.3 1.06 1.04 0.8 5.6
P 56.5 1.06 1.06 3.2 22.6
P 61.3 8. 60 1.83 4.8 37.6
P 61.3 8.83 8.72 0.0 0.0
P 65.5 9.43 9.13 4.2 38.3
SP.2 | P 68.4 9.23 9.33 2.9 2]. 1
SP.2 | P 68.4 9.00 9.12 0.0 0.0
P 69. 6 8.70 8.85 1.2 10.6
P 69. 6 9.27 8.99 0.0 0.0
P 79.5 1.46 8.37 9.9 82.9
P 79.5 1.25 1.36 0.0 0.0
P 83.3 1.25 1.25 3.7 26.8
EC.2 | P 83. 6 1.45 1.35 0.3 2.2
BC.3 | P 84.2 7.90 71.68 0.6 4.6
SP.3 | P 90.6 7.90 7.90 6.4 50. 6
EC.3 | P 97.0 1.317 1.64 6.4 48.9
P 101.7 5.85 6.61 4.7 31.1
P 105.0 5.00 5.43 3.3 17.9
P 108. 7 5.00 5.00 3.7 18.5
P 110.0 4.88 4.94 1.3 6.4
P 113.5 4.84 4.86 3.5 17.0
P 118.0 4.94 4.89 4.5 22.0
g 809.3




No 3—2

W% I [T g 2
o = WOmE T iy 0 E R o oy | EEE
W1 W1 W1
P 61.3 2.50 — — =
P 65.5 2.50 2.50 3.2 8.0
P2 P 68. 4 2.50 2.50 2.2 5.5
P2 P 68. 4 2.00 2.25 0.0 0.0
P 69. 6 2.00 2.00 1.0 2.0
E 15.5
E 824.8
B 8.3
ast 816.5
X 2ih—)L ¢ 6805 #EkR 44 FR
0.34x0.34x T x4= 1.5 m2
1EHE R
0.45x9.3(P1.4) = 4.2 m2
0.45x5.85(P101.7) = 2.6 m2
PERR Bt 8.3 m2




No 3—3

wwOK m #% & H £
o = R T W E N e | DERE| wow
&3 W1 W4 W1 W4 Wi W4
P 1.4 2.00 — — =
P 10.0 2.00 2.00 9.4 18.8
P 20.0 2.00 2.00 10.0 20.0
BC.1 | P 24.9 2.00 2.00 4.9 9.8
P 32.5 2.00 2.00 5.5 11.0
SP.1| P 33.7 2.00 2.00 0.5 1.0
P 35.0 0.00 1.00 1.6 1.6
g 62. 2
Boh
P 1.4 0.00 — — =
P 10.0 2.50 1.25 1.3 9.1
P 20.0 2. 40 2.45 10.0 24.5
BC.1 | P 24.9 2.10 2.25 4.9 11.0
P 32.5 0.50 1.30 4.3 5.6
g 50.2
BASHET (&E. LB
P 112.7 1.00 0.50 - =
P 113.5 1.00 1.00 0.8 0.8
P 118.0 1.00 1.00 4.5 4.5

5.3




# T

(& #)

m A F
|

) 3 o EEE A [ ¥ m A i
P.0 0.0 4. 60
P20. 0 20.0 5. 00 4.80 20.0 96. 0
P40. 0 40.0 7.90 6. 45 20.0 129.0
P60. 0 60.0 6. 40 7.15 20.0 143.0
P80. 0 80.0 4. 60 5.50 20.0 110.0
P85. 5 85.5 4.10 4.35 5.5 23.9

501.9

ClE
0






